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Instructions to Candidates
Read the instructions carefully before you start

answering the questions. Answers are to be given on a
OMR Answer-Sheet provided.

l. In this Paper you iue to answer 100 questions.
Each question carries l(one) mark. you are to answer all
the questions.

2. Before you proceed to mark in the OMR Answer_
Sheet, fi nd out the correct answer from the/ozr alternatives
(a), (b), (c) and (d) against each question in the euestion
Booklet. Darken the circle with a Btack Ball prdnf pen, to
the corresponding conect answer for the item in the OMR
Answer-Sheet.

Exampk:@ O @ @
(Here 'b' is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrons
answer.

^ 4. Therewillbenopenaltymarksornegativemarking
ror a wrong answer.

5. You are to start recording answers with the
'start' instruction from the Offrcer-in-Charge of your room/
hall.

6. You are to write your Name and Roll No. in the
space provided with for this purpose on the OMR
Answer-Sheet You must encode your Roll No. in OMR
Answer Sheet.

'7 . The OMR Answer- Sheet should be handed over ro
the Invigilator before leaving the Examination Hall. you
may take away the used Question Booklet after completion
of the examination.
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r'J.

MENTAL ABILITY TEST
(Questions 1-15)

DIRECTION: Read the questions 1-15
carefully and give answers by filling the circle
of the letter denoting your selected an'swer on
the OMRAnswer-Sheet.

tffit s 1 cqlcs 15 "[fr ATNefr vfrllvTr{ 'tWJ,
frsq Es,fr'eF.{ wr cat6s qfr-$ ffi ffiya p61
q<i s.,qr.q]3[. Be<'rcq-{ fiffi 1g 'I(.t s.6{ ca.lrl{
Oe< frcff.t +.Kt tl

1. If there is a common root of the
equation f + ax + b =0 and f + bx * a = 0
then the value of a + b is

(a) I
(b) -1
(c) o

1(d) ;

2. A principal becomes twice of its
amount in 10 years at a certain rate of simple
interest. At the same rate of simple interest,
thatprincipal becomes thrice of its amount in

(a) 15 years

(b) 20years

(c) 25 years

(d) 30 years

3. The length of each of two parallel
chords AB and CD is 12 cm.If the length of
the radius of the circle is 10 cm, then the
distance between two chords is

(a) l2cm
(b) 14cm

(c) 16cm

(d) 18 cm

4. The ratio of the volumes of two i:ubes
is | :27, the ratio of total surface areas of two
cubes is

(a) I
(b) 1

(c) 1

(d) 1

6

8

9

18

5. A box has 210 coins of denomination
one-rupee and fifty paise only. The ratio of
theirrespective values is 13 : 11. The number
of one-rupee coin is

(a) 75

(b) 76

(c) 78

(d) 87

6. If the volume of two solid right circular

cylinders are same and their height are in the

ratio I : 3, then the ratio of lengths of radii is

(a) rig: t
(b) 1 :r/3
(c) 1:3
(d) 3:1

The product of

Q-\b)e+ ^/sX+ 
+ zrlr)({s - 2) is

(a) 1

(b) 2

(c) 3

(d) 4

t3l



I 1 -18. If x-!6=,!-Zn;,Z-x6-
sum of three variation constants is

(a) -1
(b) 0
(c) 1

(d) il

9. Keeping the radius of a right circular

cone same, if the height of its increased

thrice, the volume of it will be increased by

(a) TOOVo

(b) 200Vo

(c) 30OVo

(d) 40o%o

12. Three squares are based on the sides of
a right angled triangle. The area of the two

smaller ones are 225 sq.cm and 400 sq'cm'

What is the area of the third one?

(a) 484 sq.cm.

(b) 529 sq.cm.

(c) 576 sq.cm.

(d) 625 sq.cm.

13. If sinO - cosO = 0, 0o<e<90o

secO + cosecO = x then x will be

(a) I
(b) 2

@) 2tr2

(d) !2

10. h AABC and APQR, if /A= /Q= 50" ,

AB : QP = AC : QR and lF.= 60", then lB is

(a) 50" c

(b) 60'

(c) 70'

(d) 80'

11. If the measures of two angles of a

triangle arc 65"20'3" and 54"39'57", then the

circular value of third angle is

(a) d

(b)

(c)

(d)

14. If 32 is removed from the data 32,25,
23,2I,I7,15,13,12,10 then median will be

(a) increase bY 1'5

(b) decreasebY 1

(c) increase bY 1

(d) same

15. The angle of elevation of a ladder

leaning against a wall is 60" and the foot of
the ladder rs 4'7 m away from the wall' The

length of the ladder is

(a) 4'7 m

(b) 9'4 m

(c) 8'4 m

(d) 9'7 m

irC

2
nc

Ĵ

2nc
3

t4l
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(Questions lG25)
DIRECTION: In each question 16 to 25
there are two words separated by ':' and other
two separated from the first two by the
symbol '::'. Find the relation between two
sets of words and select one word from the
right side of ':' which have the same relation
as left set of word of '::'. Fill the circle of the
letter denoting your selected answer on the
OMR Answer-Sheet.

1fr66f s ftcr-{ 16 cetcs 25 "tfs ATNefi-{ dGF
ffiro EF -|v ' :' qFil {ootfrE q<( qrRT EF deN KF.|q cclcs '::' EKt qem s-st qltqt '..' fr6T<

w{ftrcK wfm<
qffi a, b, c, d-F

cqs$.fq'efi-{ calrs qsF -|-qfifr nr< ,qfr w{m"t
q-"f6T€" qc< Et *Ftf\3" $tK \B.q{.qK. €s<"m-<
nffi W {<.t o<m q6E 11

16. Lion : Roar:: Ass : ?

(a) Trumpet

(b) Bray

(c) Bark

(d) Howl

17. Ocean: Water:: Glacier: ?

(a) Mountain

(b) Cave

(c) Ice

(d) Refrigerator

18. Arc : Circle :: Line Segment: ?

(a) Sphere

(b) Ellipse

(c) Point

(d) Square

Court : Justice :: School : ?

(a) Student

(b) Teacher

(c) Education

(d) Building

Protein : Growth :: Carbohydrates : ?

(a) Immunity

(b) Resistance

(c) Diseases

(d) Energy

USA: Congress :: Iran : ?

(a) Cortes

(b) Althing
(c) Majlis

(d) Storting

Country : President :: State : ?

(a) Chief Minister

(b) Minister of State

(c) Speaker

(d) Governor

AB:ZY:: CD : ?

(a) tlv
(b) wx
(c) VU
(d) xw

42 :56:: 110 : ?

(a) 148

(b) r84

(c) 132

(d) r24

19.

20.

21.

22.

24.

tst
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25. 64 : 144 ::256 : ? 27 '

(a) 484

(b) 4t2
(c) 625

(d) 402

28.

(a) 120

(b) 130

(c) 140

(d) 1s0

@) 2a

(b) t8

(c) 16

(d) 14

29.

(a) 9

(b) 8

(c) 1

(d) 7

t6l

(Questions 2G55)

OMR Answer-Sheet.

ocn s.ql.qK. EEK'|rq F "13't o6f,t ll

+510
(a) 22

(b) 32

(c) 30

(d) 23

2t 56 70

45 87 84

115 180 ?

7 l4 4

4 t2 9

6 24
,|



33.

(a) 46

(b) 42

@) a3

(d) M

(a) 78

o) 80

(c) 8a

(d) 82

(a) J

(b) K

(c) s

(d) P

34.

(a) 51

(b) 61

(c) 63

(d) s4

(a) 77

o) 78

(c) 86

(d) 88

(a) 185

(b) 16s

(c) rt5
(d) les

31.

32. 35.

I
I

I

?

21

A D H

F I M

,| N R

)

I

r4496

11
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36.

(a) 146

(b) 126

(c) 175

(d) 18s

(a) 13

(b) 16

(c) 15

(d) 17

(a) 2

(b) 3

(c) a

(d) s

40.

if
(a) 18

o) 33

(c) 135

(d) 145

38. 41.

(a) rI7

(b) lls
(c) r27

(d) 112

(a) 1

(b) 731

(c) 1625

(d) 2031

? 1 2

2l 22 40

1 2 f

20 23 43

I 7 9

2 I4 t2

3 105
,|

t8l
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a.
12 18 30\ t./Y

I

I

6

(a) 6

(b) e

(c) 12

(d) 18

16 32 40 36 18 27YYrl
(a) 4r4

(b) 424

(c) 44r

(d) 484

43.

E
I

(a) 72

(b) 73

(c) 74

(d) 75

u.

(a) 16,4.

(b) 20B

(c) 22D

(d) 24C

(a)

(b)

(c)

(d)

9

7

5

3

tel

4C 3B 2A

8A ,| l4B

2C 8A 7B
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50.
47.

42

45

(a) 8

(b) e

(c) 4

(d) 7

48.

(a) 10

(b) 14

(c) 8

(d) 6

(a) 8

(b) 7

(c) 9

(d) 6

(a) 7

(b) 6

(c) 8

(d) 5

14 15

(a) &
(b) Ma

(c) Ks

(d) M'

(a) 2

(b) 3

(c) 6

(d) 4

52.

49.

A2 c4 E6

G3 I5 ?

Ms oe Qr+

7 I44 J 5 J 5

2 6 2 ?

t 10l
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19
4
1

5

a
116

,| 11
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53. (Questions 5G70)

DIRECTION: In each of the following
questions 56 to 70, a number series is given
with one term missing. Choose the correct
alternative that will continue the same pattern
and ans#er on the OMR Answer Sheet by
frlling the circle.

tfu,t s 56 catco 70 4fr dGF etet qTF qsrt
cefr q@r dGF cqftrv e$F sc< qg 4q qtcqr

{i:t1'13r cqftca URRs ('r') Srq< qrq R-$-{
UsreR-{ {$ cers q6e ffi fr{Ed smt q<(
\e.q{.qFr E-s<"lrq-{ frffi w t(q $r< NFrl{ E€K
frcq{ 31a 11

56. 95, 94,92,89, 85, 80, ?

(a) 78

(b) 76

(c) 74

(d) 72

57. 0, 6, 24, 60, 120, 210, ?

(a) 26o

(b) 27s

(c) 310

. (d) 336

58. 720, 360, 120, 30, 6, ?

(a) o
(b) 1

(c) 2

(d) 3

59. 34,18,10,6,4,?
(a) 3
(b) 2

(c) I
(d) 0

)

t
(a)

o)

(c)

(d)

(a)

(b)

(c)

(d)

72

68

r00

120

(a) IJls

(b) JLrz

(c) JKz

(d) rLzz

4
5
3

,
5

4

3

4

54.

?

,

J3.

t 111
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ea. ],1,
{)J

60.

61.

g.

65.

lo7 ,97 ,82, 62, ?

(a) 42

(b) 47

(c) t.7
(d) 3e

1,2,5,12,27,58,?
(a) 116

(b) 121

(c) 125

(d) r27

66. 11, 10, 101, 100, 1001, 1000, ?

(a) 10000

(b) 10001

(c) 11001

(d) 10011

67. 2,7,27,r07,427,?
(a) 1262

(b) 1707

(c) 4027

(d) 4207

68. 3,8, 13,24,41,?

(a) 70

(b) 7s

(c) 80

(d) 8s

2,8,18,32,50,?
(a) 60

(b) 66

(c) 72

(d) 82

70. 4,18, ?,100, 180,294

(a) 38

(b) 42

(c) 48

(d) 50

6

){)
6

-
zsJs

6

-r25

4 5,
5J5' 25'

(a)

63.

(b)

(c)

1
(d) 

2s

3,12,27,48,75, L08, ?

(a) 118

(b) 13s

(c) r47
(d) rsz

840,168,42,14,?
(a) 2
(b) 3

(c) s
(d) 7

4,5,'7, ll, 19,35, ?

(a) 47
(b) s7

(c) 67

(d) 77

69.

l,t2l



(Questions 71-80)

DIRBCTION: In each of the questions 71 to
tiO there are four items, three of which are

alike by s.dme means or other while one is out
of the class. Find out the odd items and

indicate your answer by filling the circle of
the corresponding letter on the OMR
Answer-Shqet.

tffit s 71 (er6s so 4{i ercIs *cqu<froc< "tvr
ql(E" Tlffir ffi mt({t rI 6sl6rt slr.t qs3rsr q<(

<tRbr wilrr-t r eR qild 4rfts fr'{u-+ oc<
\e.,fl.qfit. EeTq6-{ ffi W "F"t +<-p q6{ rl

71. (a) Bar

(b) Pie

(c) Rectangle

(d) Pictogram

(a) Hygrometer

(b) Hydrometer

(c) Diameter

(d) Barometer

73. (a) Sun

(b) Earth

, (c) Moon

(d) Universe

74. (a) Iron

(b) Mercury

(c) Copper

(d) Aluminium

(a) Seismograph

(b) Anemometer

(c) Richter Scale

(df-Epicehtre

76. (a) Wood

(b) Cork

(c) Stone

(d) Paper

(a) SARS

(b) covrD-lg
(c) EBOLA

(d) Typhoid

78. (a) Herpes virus

(b) Papilloma virus

(c) Corona virus

(d) Pox virus

79. (a) Arc

(b) Diagonal

(c) Chord

(d) Diameter

80. (a) BCIUX

(b) BDAYO

(c) BEMUZ

(d) BQMPX

75.

72.

t13 l



(Questions 81-85)

DIRECTION: Choose the correct one and
give the answer by filling the circle of the
letter denoting your selected answer on the
OMRAnswer Sheet.

tfu,r e qfr+ ffi fr-{Fl +Tfl ,q<( \e.s{.qt{.
Us<"trqK Afi? W "I{.t $cr Ftrt{ U€< ffi|g
$c3t rl

81.. Ibrahim ranks 8th in a class of 35

students. What is his rank from the last?

(a) 26th

(b) 27th

(c) 29th

(d) 28th

82. If the digit 12 of a clock is pointing
towards East, then in which direction will
digit 3 point?

(a) West i
(b) South

(c) North

(d) South-West

83. Which one is the most accurate
laboratory methods for detecting COVID-l9
corona virus?

(a) KI-PCR

(b) RDr
(c) PCR

(d) Serology Test

84. Rahim walks l5km towards North.
From there he walks 9km towards South.

Then he walks 8km towards East. How far
and in which direction is he now from his
starting point?

(a) 7km North-East

(b) 10km North-East

(c) 10km South-West

(d) 7km South-East

85. If 1st January, 2008 is Tuesday then

what day of the week lies on lst January,
2009?

(a) Wednesday

(b) Thursday

(c) Sunday

(d) Monday

(Questions 86-90)

DIRECTION: Here the four fundamental
operations *, -, X and + are represented by
symbols different from the usual one. You
have to solve the problem by substituting the

real symbol accordingly and indicate your
answer by filling the Circle of the lener
denoting your selected answer on OMR
Answer sheet.

tft66t s q{]-c{ *, -, X q<( + qE Dffi tttftGs
dRxtr+ RGR SR ErTr $e q<t qmcqt erfs
SeFcs ffiErct 4Rqfu $r< qrcltF clt${
s-r{t q<( s.q{.qR. EsK"f@< Affi re "F.t $L<

6sl{t3r EE< ffi|s srfl tl

86. IfL denotes x, M denotes +, P denotes
+ and Q denotes -, then

7P24M8Q6M2L3 =
(a) 1

(b) 2
(c) 3

(d) 4

[14]
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87. IfAmeans '-', B means '+', C means '+'
and D means 'x', then

I5B3C24AI2D2 =
(a) 4

(b) 2

(c) 5

(d) 3

EE. If A for '+', M for 'x', D for i ,

G for '>', L for '<' then which of the

following will be logically conect?

(a) 4A3M2[AD2M6
(b) 4A3M2D3L4M6

(c) 4A5M4L6D2A8

(d) 4A5D3G6A2M3

89. Select the Correct combination of
mathematical signs to replace * signs and to
balance the given equation:

(5*6)*5*8-14 s

(a) x, +, +

(b) x, +, +

(c) +, x, +

(d) +, +, x

90. If '+' means '+', '-l means 'x', '+'
means '+' and 'x'means '-', then

36x12+4+6+2-3=
(a) 28

(b) 32

(c) 39

(d) 42

(Questions 91-95)

DIRECTION: The diagram shows the
survey on a sample of 500 persons with
respect to their knowledge of Bengali, Hindi
and English.

tfu,t s ftcu-{ ffi cqc{t q<( q< Eq< &fr or<
et$efr{ q8s EET n\e I FqFN 500 qq <lGK
B"f< esfi {Ta1qfu s-<t qcTcqel-m-{ <tiqt, Rfr
s R<<G \d!'t BI6ri{ b"f< &G+c< rl

91. How many persons know the Bengali
and English Language but not know the Hindi
Language?

(a) 53

(b) 62

(c) 65

(d) 37

- 92. How many persons know all the three
Languages?

(a) 6s

(b) 62

(s) s3

(d) 47

93. How many persons who do not know
Hindi Language?

(a) 265

(b) 200

(c) 255

(d) 201

t 15l
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94. What is the ratio of those who know all
the three Languages to those who do not
know Hindi Language?

1(a) |)
ab\i)
I(c) 
s
4(d) ;)

95. What is the ratio of those who know
only Bengali Language to those who do not
know Bengali Language?

(a) 2

(b) 3

(c) 4
(d) I

)
5

5

5

(Questions 96 &97) {

DIRECTION: Choose the correct one.

fffi{ e qfro BEKF fr{F{ $rnt tl

96. If M x N means M is the daughter of
N; M + N means M is the father of N; M + N
means M is the Mother of N and M - N means
M is the brother of N then

P * Q + R - T x K indicates which
relation of P to K ?

(a) Daughter-in-Law

(b) Sister.in-Law

(c) Mother-in-Law
(d) Aunt

97. Pointing to a person, a man said to a
woman, "His.mother is the only daughter of
your father". How was the woman related to
the person?

(a) Wife

(b) Daughter

(c) Aunt

(d) Mother

(Questions 98-100)

DIRECTION: Read the following
information and answer the questions given
below.

fft66t a ffiqRE vq5'efi 'tryt,e<( Es< q'€ rl

There are six children playing football
namely A, B, C, D, E and F. A and E are
brother; F is the sister of E; C is the only son
of A's uncle; B and D are the daughters of the
brother of C's father.

98. How many female players are there?

(a) Two

(b) Three

(c) Four

(d) Five

99. How C is related to F?

(a) Brother

(b) Uncle

(c) Son

(d) Cousin

100. How D is related to A?

(a) Cousin

(b) Sister

(c) Niece

(d) Uncle

t 16l
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Mathematics

1. If the algebraic expression (z? *w*)
be always.positive, then

(a) -6<p<6
(b) p <-6
(c) p >6

(d) no such p exists

2, The sum of the roots of
ax2+bx+c=0(a+0) is equal to the sum

of the squares of the roots of the equation. Then

(a) 2ab = ac * bc

$) b2 = ab +2ac

(c) 2ac = ab +b2

(d) ab = 2ac + b2

3. The solution set for the equation
1.,

32xz _23x2 +x+2 +32(**2) =0 is

(a) {-r,2} P

(b) {0, ?}
(c) {0, -1}
(d) {2,4l

4. It is printed on a paper that "The length
of a diagonal of a rectangle is 10 cm and its
area is 62.5 sq. cm". Then which one of the
following statements is true?

(a) The perimeter of the rectangle is

30 cm.

(b) The sum of the length andbreadth
is 20 cm.

(c) The difference of the length and
breadth is 5 cm.

(d) No such rectangle can exist.

lo\
t. {ft 

\3 
x' + px +:Jffi flsF q{, sF

(a) -6<p<6
(b) p <-6
(c) p >6

(d) ,4m,i p-qK Efrg C&

Z. ax2 + bx + c = 0(a+ 0) -..q<fuEF<q{E

ekq<r <(d< q{EK qil{ | Et<E

(a) 2ab = ac + bc

@) b2 = ab +2ac

(c) 2ac = ab +b2

(d) ab = 2ac + b2

aa
3. 32xz -23x2 +x+2 +32(**2) =0 -q<

qrt{{ dFqq
(a) {-1,2}
(b) {0,2}- (c) {0, -1}
(d) {2,41

4. qsF stslcq qt'[ qtq R,"qsF qmfu-<
qsfr s({< ffii tO ffi ,e qfr< 6FqsE
62.5 1frffi" | ftcD-{ R-1befr< *<i mffi qcttdr

(a) qFEFqtr{ lRftTr 30 frfr |

(b) ffis ae{ qrE 20 ffi r

(c) ffis EcE< wK 5 ffi r

(d) qmt qlTsmrcK/wmsGce{ qfuY
q

C{QI

t3l



areas is

(a) 16 : 81

0) 81 :16

(c) 4:9
(d) 9 :4

,.u*ogw
q'-{'tls4:9{rasw

(a) 16:81

(b) 8t : 16

(c) 4:9
(d) 9:a

6. Father'1v' 1 lJ,i3""i."?ir'H $l'";:
birth of rgur''.Ill'n':;: ;ffi. foliowing
now'" Then wn:cl

statements is true t

(a) rhe r,:#,rT;'"l:JH"ltTll
his son

resPectivelY'

0) rhe Present 1s"* ::'1::'ll* 
*u

hi' ';;;; 
+iYears and 12 Years

resPectivelY'

(c) Nothing can be said about their

ages'

(d) rhe rati" 
-"f t":::Tltr*"' 

of the

father to the S Il lS r ' r'

?' Taking at least one ftom the numbers

1, 2, 3, how **|litt"*nt'"t' canbe formed?

(a) 8

o)7
(c) 3

(d) 33

e.<K@6csq#Hffi*
(sl{r< qql-a { q{'q sl

*Eo6-a1S ft+t

(a) <la s erE-{ <6rn <{q {ctf@c{

30<q{s 10<q<l

O) <I-<r s Frffi <6rra aaq <etl@c{

48<q<s 12<q<t

(c) <l-<l s erE'<<qq-K6R*<fl 
qs<

6{l

(d) <r{l s cqrq{ <6{4 <{6{< s{'tls

3:1

8. (18)23 is divided by 17 to give the

remainder
(a) 11

o)e
(c) 5

(d) 1

1 . !, 23 q$$efi 6q16aq5 e+F66 peft

RG{ oQ?efi€l{tc<?
(a) 8

o)7
(c) 3
(d) 33

s. (18)ts-co 17 q\-ds1o165astff{4

(a) 11

o)e
(c) 5

(d) 1

t4l



9. rf m2-4m+r = 0, then the value of '9. Tfr I = 0 q{, gr<
( a 1) r
; 'z' +- lis ( *t *J-)-\ m'i [ *3.)

(a) 52 @) 52
(b) 48 (b) 43

@) 6a @) 64
(d) 68 (d) 68

10. For 3*+Y - 81, 81n-y = 3, we get

(a) no solution

iu) '=2%,r=r%

(c) x=2, y=2/

(d) r ='%, ,='%

es big
c cu din
2 cu the
percentage of increase in total surface area of
the cuboid over the total surface area of the
cube?

1
@) %4lvo

5
1ft\ 235:Vo
3
1

(c) r34|vo
J

(d) None of the above

11. qrF Tqt l;FF cqtco 125 F e$t qmrs{
aftbt e6't T{s mct cq< s-fl qE \e elcq< 

"|t..fi"ilFtqsF rtRrs rGr{ qsF art qrET{ ?sR o-*r qq r

{94 qFeTCqlT q:rduffi< Cs-q'sdT 1O Va-+tr<
qrqsr{< cSqTrqK qkqc5F -[e-S-{t +-s 1fr crlr4l ?

,
(a) 234;Vo

J

b\ 2zslEo
3
)

(c) r34|Vo
5

(d) Sqrs{ mtc{|frQr{

10. 3x+Y -81 s glr-Y
4R

(a) qqt{4 GR

(b) x =2%,y=2%

(c) x=2, y=%

(d) r =t%, ,=r%

= 3 << q-ry W+sl

{
I

t 5'l



12. Abag contains 4 Red and 3 Black balls

and a second bag contains 2 Red and 4 Black

balls. ball

is als that

the ball is Red is

12. erF qfrN 4F qfq e 3fr drql TE qtcq s

w{t .4<F qFdrc 2G qtq s 4F ofmt <E qtcql

;;tq=T- qsF qR "lB{ s-{l< "rc< 
qqF qq

*.r*qu fi-{F4 s-{t qf, | <eF E|a q{l{ {srflt
qq

14. The value of

3 * 5 +.......+ t9 it
77 - -22 * 

' """' 
e2 'ro2

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)'

13. {ft tnl 1qw {ar<n { 3 n s (n) {Esr

{aialst )t? {lEc<
(, I),.[,lj - 1, - t11-l ])+ (r . s) -€K nF q6<

['s.J^L'sl \- /rt L sl

(a) 1's

(b) 2

(c) 2'5

(d) 3's

,0.h.h+ +/fu*u*

(a)

o)

(c)

(d)

(a)

(b)

(c)

(d')

23

42

17

42

t9
42

16

39

23

42

t7
42

19

42

16

39

13. If [n] denotes the gteatest integer < a

and (n) denotes the smallest integer 2n;nbeing

a real number, then

i,r),f'll- Q-r11-ll)+(r s) is
['sJ L-sj t /)t L 5l

(a) 1's

(b) 2

(c) 2'5

(d) 3.s

99

100

1

100

101

100

1

99

100

1

100

101

100

I

t6l



15. In a frequency distribution, mean = 9.1
ssr

and /ftxi =132+ Stc , /rfi = 20, then k is

(a) 4
(b) 6

(c) 10

(d) e

16. ABC
ZABC > 900

a triangle in which
AD l-CB produced.Then

(a) en2 = AC2 +BC2 + BC x BD
(b) ag2 = ACz + BC2 + 2BC x BD

(c) eC2 = AB2 + BC2 + 2BC x BD

(d) eC2 =AB2 +BC2 +BCxBD

17. Given: 0o<e<90o. Then, if
sin 0 + cos 0 = .r , which one of the followings
is correct?

(a) x<7
(b) x > 1.5

(c) t<x<^li
(d) r<x<Ji

18. If sin0+cos$= 2 and. 0"<e,O<90o,
then 20+2000.0=

(a) 180"

(b) 90.
(c) 2180'
(d) Can not be found out

15. esF qRqiqn Relqrl< etg = 9.1 q<(

lf,*, =r32+5k ,>rt=20, ef{o ft{d

(a) 4
(b) 6

(c) 10

(d) e

c > 90" SAD,CB_qR

(a) an2 = AC2 +BC2 + BC x BD
(b) ag2 = AC2 + BC + 2BC x BD

(c) Rc2 = AB2 +BC2 + 2BC x BD

(d) nC2 =AB2 +BC2 +BCxBD

17. AreB 0o<e<90.;{fr sin0+cos0=x
qr, \e-c< firu< Re.efi< w<l mTF fr+r

(a) x<l
(b) x > 1'5

(c) r< x<Ji
(d) r< x<.,1i

18. fft sin0 + cos{ = 2 qT,
0o< e, 0 <90", sC{ 2e+2000.0=

(a) 180.

o) q0"

(c) 2180"
(d) fr.fu $-{t Ts?r qr 

I

is
and

t7.l



19. secO+tan0 =a+J=b

a.beQaadJ]b eQ and sece is rational' then

(a) 62 =l+a

(b) a2 =!+6

(c) 62 =1'-a

(d) a2 =l-6

20. The ratio in which 9x -3Y -14 = Q

OiviAes ttre join of (2, - 4) and (3' 7) is

(a) 2:l
(b) 1 :2
(c) 2:3
(d) 3:2

19. sec0+ tanO = a+J-6 i a,beQ 4((

Jt eO qf{|< secO {En qrE

(a) 62 =!+a

(b) a2 =!+6

(c)' 62 =!- a

(d) a2 =!-E

20. 9x-3
Rtaqq(F
ffiqq

(a) 2
(b) 1

(c) 2
(d) 3

1

2

3

2

t8l



Physics

21. Themass, linear momentum and kinetic
energy of a body are m, p andE respectively,
then

(a) p = Jiir
(b) E =,[r*p

(c) p = JTE

(d) E = \f2p

22. A stone is allowed to fall freely
downwards initially at rest from the top of a
tower. The time taken by the stone to reach
the bottom of the tower is 4 seconds. What is
the height of the tower? Take, acceieration due
to gravity = 32 ftls2

(a) 64 ft.
(b) 32 ft.
(c) 48 ft.
(d) 2s6 tt.

23. The coefficient of linear expansion of a
solid is x and the coefficient of volume
expansion of the solid is y, then

@) x=(
a

(b)

(c)

(d)

'|l?tafrrrt
21. qsF <EFI vK, ml-+ \e-strtrf e ayfrqfu

{qECTm,psE<O

(a) p = Jz*n

(b) E = rlr*p

(c) p = J2a

(d) E = Jrp

22. q$F 4tqsirq mtrltDt\€Rlr.<{ qr{D EEer Brcs
Tc}--slnftDKftsR<w{qt cctcs ts(s msntqEl
qlqffi ite{|cT{ vftqr.t c{tqco 4 sr+v qrr firf,
Et€TFFr UD-gI $E ? {c<1, sffi x-<t = 32 ft/ s2 t

(a) 64ft.
(b) 32 ft.
(c) 48 ft.
(d) 2s6 ft.

23. s6-{ "meF{ ffi eTKq e61s x €
4ff{"i e.fl6 y E(E g,trq< {*6 <<

(a) x

(b)

(c)

(d)

il
I
t

v_;
J

)c

'3
v
2

x
v --'2

x
v --ra

J

v
^-- ")

x
v 

--rn
L

tel



24. In case of refraction of light from a 24' 6sIfl {t{N ccfcs

medium to air the critical angle is iound to be CS6gqrct C4fc"lstIF 45"

45". What is the refractive index of the medium aFrylto w t
with respect to air? (a) Jt

@) "fz (b) 
"F(b).6 @)2

(c) 2 (d) 3

(d) 3

25. Which of the following pair have same 25' ffiqfu c+.14 ffi'@< q+?' e$Tt

unit? (a) stel qqiqrc4frsst't

(a) Heat and Specific heat (b) et"tffi't'tq<(q-fl{
(b) Thermal capacity and Water (c) qlttF+q{q<(qa4fu

equivalent (d) st't q<(slq
(c) Specifrc heat and Thermal capacity

(d) Heat and Work

26. Which of the follovfrng is an 26. ftCE-{ 6qsFF Effi-{ s-ffi?

electromagnetic wave? (a) ct-<fr

(a) cr-ray O) P-Kft
(b) B-ray (c) y-<ft
(c) y-ray (d) stfce||v <fr
(d) cathoderay

27. Incase of a convex lens, what is the 27. EEE CryCdK 6$rq Tg s vK qlRrr-< I(<l

minimum distance between an object and its {-tl-sn Eiq rs?
real image? (a) m|sHE-<N< 2'5 s"t

(a) 2.5 times of focal length (b) cTtsFIE'{F< 2 s"t

(b) 2times of focal length (c) m|+Hq-<m< 4 s'l
(c) 4 times of focal length (d) cTIsT.f E-ffi'{qfl{
(d) equal to focal length

[10]



28. What will be the power consumed by a
50C) wire if it is kept across a potential
difference of 200 V?

(a) 0.8 kw
(b) 80 kw
(c) 400W
(d) 8 kw

29. I cm of main scale of a vernier callipers
is divided into 10 divisions. The least count
of the callipers is 0.005 cm, then what is the
number of divisions in the vernier scale?

(a) 10

(b) 20

(c) 2s

(d) so

30. If an x-ray tube is operated at2}ky,
what is the cut-off wavelength? (Take, planks
constant, h = 6.62x10-34 J.S)

(a) 0.89 A
(b) 0.7s A
(c) 0.62 A
(d) 0.31 A

31. An ideal gas is found to obey tire
equation p2V = constant along with the ideal
gas equation (here, p = pressure and
V= volume). If initial temperature and volume
arc Toand Vo respectively and it expands to a
volume 3Vo, then what is the final
temperature?

(a) v3%

(b) J2r0

T
(c) jP

V3
T

(d) +
,lZ

28, 200 y ft-s<aafTl qsF 50o cnw RFIE
elc{ N raut gRs qc<r

(a) 0.8 kW
(b) 80 kw
(c) 400w
(d) 8 kw

29. qsF vtffi< srtfr4rf{ En 6s-Fl3r I cm
T< 10 F qqlT vlrsi R-w I sJtR"ilffi{ qRB &'{s
0.005 sp QC{, etffiK ffi-FITt q-< {(?UT s-s {61 ?

(a) 10

(b) 20
(c) 2s

(d) s0

30. qsF x-<ft d6r 20 kV fr.e-{arcm ffifq
qcE, Rq$ E<q?Rf s-e- qK? (<r<t, fll|6-< s<o,
h = 6.62xl0r4 J.S)

(a) 0.8e A
(b) o.7s A
(c) 0.62 A
(d) 0.314

31. qsfi qp.f ey1'q, W.f uf'm ffiqq6 U**
p2V = s<s {fts-{"tF {Fl sr{ (e?ilrl p = D't,
y= ql$e-{) | '[.FF{ dtqRsEl€ts qF\5-{.{qfq({
Zo^s %qrE 

q<( ffi\9 qcr qlTl-g{ 3voEffi, eK
qR{ EsEt$e qr<?

fal .A%

(b) Jiro

(c)

(d)

To

t;VJ

To

J'

[ 11]



T= lK toT = 2Kis
(a) 3a

32. fifl E.lesl{ ttg< qtcqR-s Elot' S = aT3

"*ffi iR.F"q{ R"ltFI, os tf o*
e T€ "muqsst l,4sssK{ {wftg f = lK

carc T = 2K-€ <lVlF dLTMfrTet"HFqE

(a) 3a

15a
(D) l_

2a(c) T
13a

\o) T

(c)

(d)

(b)

(c)

(d)

15a
4

2a
3

13a
4

33. An object of weight W"t9 dt":ity p ts

.,ib-*"tt"U *ftoffy in aiiquid of density o' its

apparent weight will be

(a) (P - o)

(b) (P-o)/W

(c)

(d)

l12l
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Chemistry

34. The ratio of o and n bonds in propyne is
(a) I
(b) 3

(c) 2

(d) 3

34. d4R{ frcrt o €{( n <rpr qFIFr *fl.
(a) I
(b) 3

(c) 2

(d) 3

3

1

3

2

3

1

3

2

35. The element having the lowest first
ionization energy is

(a) He
(b) cl
(c) F
(d) r

36. If the fourtubes of a car are filled to the
same pressure with N2, 02, B *d Ne gas
separately then which witt fitt ttle tube first?

(a) \
(b) oz
(c) Hi
(d) Ne

37. Ata given temperature what will be the
percentage increase in pressure for a 5Vo
decrease in the volume of the eas

(a) 5Vo

(b) 5.26Vo

(c) 6.26Vo

(d) I0'26Vo

38. 02= is isoelectronic with
(a) Hz

(b) Nz

(c) Fz

(d) HF

35. c{ ffi EqtqmqRcq-n "t&-{ ffi {,+.wffiqq
(a) He
(b) cl
(c) F
(d) r

36.

Hr(R
+{aqn F€<m sfi +-+c<r

(a) Nz

(b) oz
(c) Hz

(d) Ne

37. sqffis au**, c$.lc{t ,nrq-?T qlv{
xlE-$Tt 5 vtsf gfq c'|(E, & urnq-* Dt f "fe-$Kt lfrrflc<

(a) 5Vo

(b) 5.26vo

(c) 6.26Vo

(d) 10.26Vo

S. or={< q:Hrtl-$tcqfrq q\fu qnqffi qq
(a) Hz

(b) N2

(c) Fz

(d) rtr.

il
l

[13]



39. Which of the following forrns 4homo-

logous series?

(a) Ethane, EthYlene, AcetYlene

(b) Ethane, ProPane, Butanorie

(c) Methanol, Ethanol, Propanoic acid

(d) Butane, 2-MethYl Butane'

2,3dimethYlButane. ,,

40. The gas that gives a black precipitate

with aqueous Pb(NO.)r solution and a white

precipitate with aque6 is ZnClrsolution is

(a) CO,
(b) No2
(c) NH,
(d) H"s

39. ffiqRs 6strF qsF q{e1ftn ffi 1fti +c<?

(a) tcqFr, Qfatfrq, wfiFGFr

O) kan, dcrq, RUbw{

1c; Ren+o, taF+o, d"flr+tfra wlFts
(d) Rb64, 2-frctRq RBF{,

2, 3 vRRqRE Rud{

40. N {Rffi qfta u<rq af5[E slrqt q{Ks't
q<( Gs Fmprw q-ftn q<c"f{ 46q. ffi q{sm't

cq-{ C{ 6[ptstqq
(a) Co,
(b) Noz
(c) NH,
(d) H2s

(a) analdehYde

(b) an amide

(c) a ketone

(d) analcohol

42. Equal volumes of
pH=4andPH=10are
resultant solution will be

(a) 6
(b) 7

(c) 8

(d) e

two solutions of
mixed. pH of the



i-:

43. Find out the position isomers from the
following pairs of compounds

lf . fto< mtWfi-<qt:o ctrcw{qlaqfuq:il<T<
6ql9qE

(u) "r":[_ cH2oH , H2c:?-*t,
CHr CH3

(b) tt c-gH-cH2cooH, H2c:cH-coocH3

(c)nrc-cn-rcH3, H3c-cH2-cH2-o-cH3
I

CH:

(a) Hzc:p-cH2oH ,
I

cHs

H2c_-f-ocH3

cH3

(b) n c:6saH2cooH, H2C-CH-COOCH3

(c)nrc-cn-rcH3, Hgc-cHz-cH2-o-cH3
I

CH.

o
tl
tl

(d) nrc-cHr-t-cg,,

44. Eggalbumin in water is a
(a) True solution
(b) Colloid
(c) Suspension

(d) Supersaturated Solution

45. Lithiumis generally used as an electode
in high energy density batteries. This is
because 

.;t

(a) Lithium is the lightest of all metals
(b) Lithium has quite high negative

reduction potential
(c) Lithium is quite reactive
(d) Lithium does not corrode easily

cHs

o
tlsr6-qH_C_n

I

CH:

44.
TIr{

il
I

46. NH3+O2 +H2O

4+oz B

B+Oz+HzO C

A, B and C respectively are

(a) NrO, NO, and HNO3
(b) NO, NO, and HNO3
(c) NO, NO and HNO3
(d) N2O, NO and HNO?

46. Nn+o Pt_Rh

OlOz

B+Oz+HzO

A, B q<( C qq rcfler{
(a) NrO, NO2 q<( HNO3
(b) No, No2,4<( HNO3
(c) NO, NO q<( HNO3
(d) N2O, NO q<( HNO?

20

B

C

olt ?(d)Hrc-cnr-8-cnr : Hrc-1"-8-"

qFT Egg alburnin mtrt s-{t qrq frqqF Tqt

(a) el-f-s u-<'t

(b) mFrss
(c) d-qrq
(d) qGlo q-{q

4s. EE*tG{-'f{ <iFIR6o frRrN {FRn-sOM
fr$r< <l-{q[T{ s1-<"1qq

(a) frfamq q<-cucr q-qo {s< frd
1u) ffimnq< qeru 6<Fr ffitws Remq

Rs-{
(c) frfaFFqbrvqfr{ d-{
(d) ftRmtn-< {qcq sr E{ rt

[ls]



47.

BiologY

The main plantbody of pteridophyte is

(a) SPoroPhYte

(b) Prothallus

(c) SPore

(d) GametoPhYte

48. In human eYe, at the blind sPot

(a) OnlY rod cells are Present'

(b) OniY cone cells are Present'

(c) Both rod and cone cells are present'

(d) Neither rod nor cone cells are

Present.

49. Percentage of Orpresent in inhaled air

in human beings is aPPoximatelY

@) 2l7o
(b) 77Vo

(c) 0'04Vo

(d) 3Vo

47. F1NtSfuq{ d${ cq.qFqn

(a) m"lq<

(b) cdterF]q

(c) ml.
(d) f,q{<

48. Tr{<FT{ EqCtnN
(a) e{$q 3v ml..t BqQg cfirs t

O) e{ilq corq 6sf't EdQu qfRT 
t

(c) Tv€<i mr{6st5tffiGq8g qrr+ 
t

(d) {sa1 6a;a6'frt-€K csl({lfr.B"t@
ctlcs{tl '

49. q6{cqrq eFilq

q{ilRs "tffi"tqE
(a) 2l%o

(b) 77Vo

(c) 0'04Vo

(d) 37o

4aF U4Rg sfucslrq-<

50. The disease which usually spreads

through cuts and wounds is

(a) Chicken Pox
(b) Malaria

(c) Tuberculosis

(d) Tetanus

50. {t{Kqe sFt-Giv,i ltcu<) {l{rc{ G c$dF

q"gfts q{ cqF {q
(a) v-o <w
0) {firqRrt
(c) rqt
(O Ftr+n

[16]



51. Lysosome stores

(a) ATP
(b) Hydrolytic enzymes

(c) Carbohydrate

(d) Protein

52. Which muscle separates thoracic and
abdominal cavity?

(a) Abdominal muscle
(b) Smooth muscle
(c) Diaphragm
(d) Cardiac muscle

52. FT{ c4ft <t.rt<n
TT{ K]-RI?

(a) Er< c"iFf

(b) qt c"rFr

(c) {<lwt
(d) qq.r"tFf

q<( vtrn r|qi-ar'Jq$

{
I

53. Which one of the following hormones
helps in conffaction of uterine muscles durins
perturition?

(a) Vasopressin

(b) Oxytocin
(c) Prolactin

(d) Relaxin

54. Glomerulus and Bowman,s
together form

(a) Malpighian rubule
(b) Malpighian corpuscle
(c) Collecting tubule
(d) Renal tubule

capsule

ET6<< CT{ q-{R<

54. cilrtw-qlq,4<( <fsrl6l-{s;T"l{E €$rq rtt{
s-K

(a) ll,nft&*rq drF-sr

(b) $qftCilr sft$l
(c) qidtQ {tfr-sl
(d) TAr 4rR-st

I17 ]
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55. Cardiac muscle is

(a) striated and voluntarY

(b) smooth and voluntarY

(c) striated and involuntarY

(d) smooth and involuntary

56, In which of the following subphases of

meiosis crossing over takes Place?

(a) LePtotene

(b) PachYtene

(c) ZYgotene

(d) DiPlotene

55. q(c{ft qE

(a) qr<q'q<( AF+

O) *{'t e<( 'hEs
(c) qc<q e<(ffis
(O v1"le<(ms

56. FTqRRE E"mtteG< {c{I ftcflFIrffi crr{

S"tq"flT ffii-evK sT ET?

(a) mfitrq
(b) "rr$'Rmt
(c) qRcailFq

(d) Mdtr{

57. The part of human alimentary canal

where no enzyme secretion talgis place is

(a) Mouth
(b) OesoPhagus

(c) Stomach

(d) Ileum

57. af{cl< r46441ft< c{qfft mnntuqcqF-s

S{.tEttqI,etqE
(a) *qR<<
(b) dq{ffi
(c) "F+qR
(O ?RrN

58. Marine fish when placed in tap water

bursts because of
(a) Endosmosis

(b) Exosmosis

(c) Diftusion
(d) PlasmolYsis

53. q1fr--+ $qce lcn qt{-<ct $6ffi qcE TFII q{

E"l;[ st 6{ TFT"I FF <fg, q qf,

(a) qwltlcilFn (qwq@{'t)

(b) 'mvacnffi i3Q:vffi<'t)
(c) frfrC't* (<11"1-{)

(O *tsnrffifiq
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59. "Penicillin" obtained from a fungus is
an

(a) Antiseptic
(b) Antiserum
(c) Antibody
(d) Antibiotic

5!. "6ffifrfr4"-{ €$Fqq;6 cclr$ eflEnlit{,
Etqq qseFFk

(a) wftcqfbs
Ol qitFFrflr
(c) qft<P
(Oqirffi+

60. The immunoglobulin which is
ftansported to the foetus through placentafrom
mother is

(a) IgG
(b) IgA
(c) IgE
(d) IeM

60. mRREr+cmREft-q rtgffiq ccfcs flffibt <r
wl-?TFr rt{rF w.r< me {tfu qr, tr.l. qq

(a) IgG
(b) IeA
(c) IgE
(d) IeM

1
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HistorY

61. France was named

economic errors" bY

(a) Rousseau

(b) Adam Smith

(c) Montesquieu

(d) QuesnaY

as "a museum of

62. Who was known as the "Tsar the

Liberator"?
(a) Tsar Nicholas I
(b) Tsar Nicholas II
(c) Tsar Alexander I
(d) Tsar Alexander II

&

63. The day AtJrOctober, i929 wasmarked

as 'Black Thursday' in U'S'A' because

(a) Tenorist Attack

(b) Natural CalamitY

(c) The Great Economic DePression

(d) Change of Political Background

64. The father of British Socialism was

(a) Louis Blanc

(b) Karl Marx

(c) Robert Owen

(d) Saint Simon

[20]

61. $qrs'ffi qaftfr-4 TIKq{" <ffi(E{

(a) {rtt
O) wtg]Tfrql
(c) qrtE
(o Tcsrc

62. '16ntv'tqF[" nfcl c+'tRGsQ6ffi?

(a) qK dqr fir$lE]-{

(b) qr{ frqr ftcoqlq
(c) qt< aeFqtc4{srfsK
(d) qK fr-Qa qttn-+sl-sm

63. qrclRrom 1929 qlGK 24crt qcbrfi fiqF

'Tfmt IT'tF{l.{' ilc{ "tRGe Tf{"t

(a) qqtq-<tftqferct

O) NrK{'r
(c) qqftnF+{{ffit
(d) <tstilFr "Fqffi{



.i;

65. Jagannath Singh Dhol was the leader of
(a) Kol Rebellion
(b) Santhal Rebellion
(c) Munda Rebellion
(d) Chuar Rebellion

66. The'editorofthe'samacharChandrika, 66.
was

(a) Rammohan Roy
(b) Iswar Gupta
(c) Bhabani Charan Bandyopadhyay
(d) Gangakishore Bhattacharya

65. qrrfletfri <rqRcq{
(a) mter Rmnq< oot
(b) qleqE fre'nq< ost
(c) Ntfunq< cqut

(d) U'rtV frenq< crot

ffi{ D&-$'t' {ffis q-{tn+ Erqq
(a) <lamRa nr
(b) *'q-* ee
(c) s<tftufft <cq]T?tt{rEr

(d) a1q1ft16vffi

1

67. MaduiPasi was the leader of
i @) Santhal Rebellion

(b) Munda Uprising
(c) Bhil Revolt
(d) Eka Movement

68. 'May Day' was celebrated for the first
time in India at

(a) Bombay
(b) Calcutta

. (c) Madras
(d) Kanpur

68. elstF dcFr 'c{ fr{{' 'ftfu qRAE
(a) mktre
(b) qaqqn
(c) qfqlrq

(d) strtK

l2r l



69. 'TheMahad Satyagraha' was organised

by
(a) DaYananda Saraswati

(b) Swami Vivekananda

(c) Sree NaraYana Guru

(d) Dr. B' R. Ambedkar

69.'qtqF {silsq qfcqff,{' {iofftv q
(a) q-{Fq q-<qq-{ qKt

(b) qRfi6qsnrq-{ffi
(c) 8tql-flr"t ss<Ertl
(d) ve R. qr<. qI6{q-sc<lTE'KI

70. ffiRcF-{t< ffi Ett
(a) 1919 fiSftq
(b) 1920 Rfiffi
(c) 1922Rfl(q
(d) rezsRSKq

70. The
place in

(a)

(b)

(c)

(d)

incident of Chauri-Choura took

1919 AD
1920 AD
1922 AD
1925 AD

71. The first language state was formed in 7l'
Independent India:

(a) Andhra Pradesh

(b) West Bengal ji
(c) Tamilnadu

(d) Gujarat

72. Thewriter of the book named ' Chhere

Asha Gram' was

(a) Manikuntala Sen

iU) natsttina Ranjan Basu

(c) Sankha Ghosh

(d) Selina Hossain

{tR-{ vr<N dan efs]G&s utCIs <M qq

(a) qsnE(q*l

(b) "tFu{<q
(c) utfiq{lv
(o) eq-sF

j2. '@-q|'tt dt{'efqtr< cq"rcqrffi

(a) rfus"1*o
(b) {tr"tl-{q4 <n

(c) 'letcsls
(d) flfrTt acfi
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Geography

73. The time difference between Greenwich
Mean Time and Indian Standard Time is

(a) 6 hours
(b) 5 hours 30 minutes
(c) 5 hours 15 minutes
(d) 5 hours

74. By nature, the Westem Ghat is a/an
(a) Old fold mountain
(b) Young fold mountain
(c) Block mountain
(d) Igneous mountain

75. The process by which, the height of the
ear,th surface increases is P

(a) Aggradarion
(b) Degradation

(c) Weathering
(d) Denudation

76. Deep cracks on the
mountain glacier are called

(a) Nunatak
(b) Arete
(c) Crevasse

(d) Cirque

surface of the

YcrftE
73. fdfrD >Irntr s g.r<-qT eFrl.t q:rc:t-?r 

"ttqfoi 
qe

(a) 6<br
(b) s Ebr 30 fiffi
(c) 5 qfi ls frffi
(d) s {br

7a. eFfraFEftT dffi 6q fitfffr ffi,u.1qq
(a) ffi+vR-q qG
(b) {ft{ vR-q "rG
(c) Et "fft
(d) war arf,',

75. c{ Ae-Try-1c#{Ebrct1fr. {F,vr6FTGT
(a) qIrRR"t afr.{t
(b) qq6p"1d@-rT

(c) qr<qR-otr dfr{I
(d) qfu+q Efr-rr

76. "flfrifuq{ d m'c.t$ ffic T.trq,efiro
TFI

(a) mrDrt
(b) qitc<b

(c) m-sm
(d) q|6

{
I
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77. The climate which is found in Cape

Town of South Africa is

(a) Equatorial climate

(b) TroPical Monsoon climate

(c) Mediteraneanclimate
(d) Hot Desert climate

77. qfrq qlfr$'l< cs6F6{ c{ q-tril{ cq"il Tl{'

E.l qE

(a) Fmfix qE<{

(b) qlqr cfrqftq-{-{l{
(c) W<Ftt'tftr qE<l{

(O Es rr qq<lq

78. New South wales current flows along

the of Australia'

(a) northern side

(b) southern side

(c) eastern side

(d) western side

79. Which of the following, parallel

latitude, passes through midtlle of India?

(a) Equator

(b) TroPic of CaPricon

(c) Prime Meridian
(d) TroPic of Cancer

7s. fib qrUq eraqq Gtg q-<tN ql qcERrlK

(a) Ere< fr-+ frca t

O) qfrtfr+frcx t

(c) tdfr-+fta t

(O {F5{ fr-+ ftca t

of 79. el{F{ dlTI {r<lqF frc-T m qmmeil Rqs'

mF qq

(a) R<sr<{t

O1 m-aeft m{t

(c) {q{{I(K{l
1d) offim<l

80. The lake located, in between the deltas

of the Godavari river and the Krishna river is

(a) Kolleru
(b) Pulicat

(c) Chilka
(d) Vembnad

80. cailfifiaft re $stqft-{ <fo"Kqlm[q<@
gcq-{4{q4

(a) mKq+

O) {fr+b
(c) Set
(d) erqlq
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81. Salty sea breeze is needed for
(a) Sugarcane cultivation
(b) Tea cultivation
(c) Jute cultivation
(d) Coffee cultivation

82. Which of the following industry
called 'Foot loose Indusfry,?

(a) Iron and Steel Industry
{b) Engineering Industry
(c) Automobile Industry
(d) Cotton Textile Industry'

83.'Diamond euadrilateral'
related to

project is

(a) Air Transport
(b) Rail Transport
(c) Road Transport
(d) WaterTransport

84. The colour used for drawing of contour
lines in a topographical map is

(a) Black
(b) Brown
(c) Red
(d) Blue

81. Tl1fr-$ T{6llB <lsE efcilqr qff

(a) Rtukq
(b) Drqrrq

(c) aFukr
(d) +ft urrq

82. ffiRs miqfiffi$ fiovqrqflFH'reil
q{?

(a) cfr<bns nrq
(u) tfqffiqFrq
(c) ortr<en& ftq
(d) sffq <T{ FH

s3. tffiDqEq'ffiFRcTKq
(a) fun qfr'-qqr-qR qcr
(b) mq 4frqq{-qK qrq
(c) 4r_q "tR-<q{-q< Tc{
(d) qq qR'Eqq<r q(q-

3a. ftaqlfr-srtq ilqGrq qcT|Rel.<"ftwF{ s-trr
qr c{ K( fi'm, q qq

(a) s|(Er
(b) <ffi
(c) alq
(d) fi-q

IS

1
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86.

the

Political Science

85. A candidate for Bidhan Sabha and

Lok Sabha Election must not be less than

years.

(a) 25

(b) 26

(c) 27

(d) 2e

'MONEY BILL' is first inffoduced in

(a) Lok Sabha

(b) Rajya Sabha

(c) Supreme Court

(d) High Court

87. The number of ju$ges of the

lnternational Court of Justice is

(a) 9

(b) 10

(c) 15

(d) 16

88. The age of retirement of the judges of
the High Court is

(a) 65 years

(b) 60 years

(c) 62 years

(d) 70 years

s5. R{FEvt s @lTqvt fi-{Dzq q1fi64 qpa

ST'|C5F Re:rtBGst
(a) 25 <q<

o) 26 <q{
(c) 27 <q{
(d) 29 <K

s7. qrvdGo qtqlarcw fu{qG-< qs[t qE

(a) 9qq
(b) 10qq
(c) 15 qq

(d) 16q{

ss. dRsfffK fu{"ttrfiK q?w{ sqc6l{ <lFI EE

(a) 65 <e{

(b) 60 <E{

(c) 62 <q<

(d) 70<q{
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89. The Headquarter of the World Health

Organization is
(a) London
(b) Manchester
(c) Geneva

(d) Paris

90. The minimum age for the citizen to
exercise their right to vote has been reduced
to 18 years ftom2l years through the

(a) 42ndAmendment Act
(b) 44thAmendment Act
(c) 61st Amendment Act
(d) 73rd Amendment Act

90. wsl qiRqr qrcfl{trK rKrcr FFnff{
TNT<lFT 21<q< c{rssfr6T lg <q<qntRmcqr

(a) 42 sr
(b) 44 w
(c) 61sr
(d) 73 vr I

I

91. ThePanch-SheelAgreementwassigned gl.
between .+r

(a) India and China
(b) India and Nepal
(c) India and pakistan

(d) Pakistan and China

"fs{hqfuttsRg <-rRE
(a) vkv.e frc+<
(b) eRe € G'ff6E-n

(c) vt<-s re 4fucl-<
(d) 'ftfrstr s ffr+<

_TC<i I

92. The World Trade Organization was
founded in

(a) 1990

(b) lees
(c) 2000
(d) 200s

92. Rq-<tf4sr qiEt EB6s <_TEq I

(a) 1990 ftq
(b) l99s {|rE
(c) 2000 {rE
(d) 2005 {rq'
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Economics

93. Which of the following is not a function
of Commercial Banks?

(a) Collecting deposits from public.
(b) Lending loans
(c) Issuing Notes
(d) Working as an agent of Client.

94. Stagflation is a situation where
(a) production increases and price

level increases.
(b) production decreases and price

level increases.
(c) production decreases and price

level decreases.

(d) production increases and price
level decreases.

95. Which of the followine fs a direct tax?
(a) Sales Tax
(b) Income Tax
(c) Entertainment Tax
(d) Service Tax

96. In which economy is the policy of
Iaissezfaire adopted?

(a) Capitalist Economy
(b) Socialist Economy
(c) Mixed Economy
(d) Any Economy

qeftG
93. ftzu-{ mF{F {fters <rt<rfiT +tq q*?

(a) vaetc"l-< dq cqro ql:rl-de fq.t q<t 
t

(b) <rqlt+ r

(c) c+F dFq{ 1

(d) dRRIk-{ dfefrft fu|C< sM s-fl |

9a. qql€G qE qvl ,qs w{Et cr{Tr{

(a) Ss"nn {p-cq qai qFv{ <lV(R I

0) bq"ffq,{ sr(q q<( qNs{ <lvcq I

(c) Es"ttna s{cR q<( k'Ffs-{ sTcq I

(d) bq"tqF <lgcq q<( qFlv< sTcR I

95. Ao-{ ffiqF fls1q 4-sz

(a) R-er q<

(b) vtn +<

(c) Acltho<
(d) 4Rr+<to-<

96. cofq qefrfus w<t{ qcfuFs ftG (/aissez

faire) Sq.t qfl qlt
(a) <wstfts qafrfuN

1U; wtwuft-+qcRfue
(c) frqqcfrfuE
(d) cq 616a1qefrfup

[28]



. 
97. Exclusion principle is not applicable in

the case of
(a) Capital goods

(b) Consumer goods
(c) Public goods

(d) Private goods

98. Railways in India are highlighted by
which of the following market formi

(a) Perfect competition
(b) Monopolistic competition
(c) Monopoly
(d) Oligopoly

il
I
,t

99. Which of the following taxes follows
the ability to pay principle?

(a) Wealth Tax
(b) Entertainment Tax
(c) Goods and Services Tax F
(d) Excise Dutv

99. c$'f{ s-{F q|ra6 E-{rtft sr {nrffi ft&
q{T{6t $t??

(a) x.{no<
(b) ar{t4 s-{
(c) q-<r s qRcv{ts-{

(d) Os"ttn+ ee

100. In underdeveloped countries most of the
labour force are generally engaged in

(a) Industrial sector
(b) Service sector
(c) Agricultural sector
(d) Banking sector

t2e l


